HBRX—Ik2 (A 4RB#HK

Sf2%6 AH
HERAETRFAKE ERKEABRERREE
KB 9:00

KEABRBERSZE (ERERRKS  BKF B K))
e |KBE E| pH [ZLhV|2EE| ZF (Y| & =&
A | X&) SE i a4 > io | (e
C c | & mg/l | mg/l | mg/1 | mg/1 | mg/1 | mg/1 | BB
1 [ 2 [ 22.0] 17.5] 13.7] 7.86 15
2 | 2 | 21.2] 17.8] 8.2| 7.87 20
3 | m | 24.0] 20.1| 10.4] 7.97 50.0{ 75.0( 150 5.7 0.55| 0.02 20
4 | 2 | 24.9] 2.3 8.7 7.90 16
5 = | 26.5| 20.7] 7.0 8.05 15
6 | m | 26.2| 21.0] 6.2 820 15
7 | 2 | 252 20.3] 8.7 806 21
8 | m | 26.0] 21.5/ 20.2 7.70 25
9 | m | 26.8] 21.7] 7.5 7.80 19
10 | & | 27.9] 22.2 8.7] 7.84 16
1M | & | 240 21.3] 11.8] 7.82 49
12 | 2 | 243 21.2] 449 7.72 75
13 | & | 23.0] 21.2| 38.6| 7.68 48
14 | & | 22.0] 20.3] 26.5| 7.72 305
15 | ®& | 25.2] 203 163 7.81 687
16 | B | 25.3] 20.9] 414] 7.80 590
17 | 2 | 26,0 21.2] 159 7.82 191
18 | 2 | 24.3] 20.7] 75.3] 7.69] 45.0[ 47.0 203 4.0 3.35| o0.08 81
19 | & | 18.0] 18.1] 37.1] 7.78 65
20 | ms | 23.5| 18.9] 180 7.73 185
21 | m | 25.5] 19.9] 112| 7.74 132
22 | @ | 20.5] 19.4] 63.9] 7.87 69
23 | 2 | 26.0] 18.5/ 58.8] 7.80 82
24 | ms | 26.7| 20.4] 75.2| 7.76 83
25 | @ | 24.0] 20.2| 53.8 7.82 57
26 | 2 | 25.0] 20.0] 66.3] 7.86 63
27 | 2 | 26.1] 20.9] 39.6] 7.90 47
28 | @ | 21.8] 20.6] 26.7] 7.86 39
29 | 2 | 25.5| 20.4| 56.7 7.82 72
30 | 2 | 25.6] 20.3] 51.2| 7.60 56
Ty 24.4] 20.3| 61.8] 7.83| 47.5| 61.0 177] 4.9 1.95 0.05
55 27.9| 22.2| 414 8.20] 50.0] 75.0 203 5.7 3.35| 0.08
RIE 18.0 17.5| 6.2 7.60 45.0{ 47.0{ 150 4.0 0.55 0.02




THM2F6 AR

RECAETIRRAKE KEHBRERBRESE (BER%KS)
RKEFR 9:00

KERBHEREREZE (ERFKS Egkit (B2 K ) )
. KB|E E| pH [TLh)|eEE| &% |8kt &% =
A | Rk | =R i a4 Ao |® %
C C E mg/l {mg/l [ mg/l [ mg/l | mg/l mg/|
1 = 22.0] 18.4 2.7 17.48
2 = 21.2) 17.7 2.4 7.55
3 & 24.0( 18.5 2.0 7.49] 46.0| 76.0 143 5.9 0.08] <0.02
4 = 24.9] 19.6 2.5 17.36
5 & 26.5[ 19.8 2.5 1.52
6 & 26.2( 19.8 2.4 7.65
Ji = 25.2] 20.2 2.4 7.60
8 & 26.0( 20.2 3.1 17.49
9 & 26.8[ 20.9 2.3 17.46
10 & 27.91 21.3 2.01 7.56
11 [55] 24.01 21.1 2.4 7.53
12 = 24.3] 21.1 2.5 7.44
13 [55] 23.0( 20.8 2.3 71.30
14 [55] 22.0( 20.8 2.1 1.4
15 i 25.2( 20.9 3.4 7.44
16 i 25.3] 20.0 1.6 7.28
17 = 26.0] 20.5 2.6 7.45
18 = 24.3] 20.4 3.4 7.42) 43.0| 44.0 119 6.4 0.09] <0.02
19 [55] 18.0[ 19.1 3.1 7.60
20 i 23.5( 18.9 2.3 1.49
21 i 25.5( 18.8 2.3 17.45
22 [55] 20.5] 19.0 2.3 1.59
23 = 26.0] 19.5 2.7 1.4
24 i 26.7 19.0 2.7 1.21
25 [55] 24.01 20.0 2.8 1.21
26 = 25.0] 20.3 2.3 1.42
27 = 26.1] 20.8 2.3 17.43
28 [55] 21.8] 21.0 2.8 17.43
29 = 25.5] 21.2 2.8 17.45
30 = 25.6] 20.3 3.3] 7.18
Eiy 24.41 20.0 2.5 7.45 44.5] 60.0 131 6.2 0.09] <0.02
54 27.9] 21.3 3.4 7.65 46.0| 76.0 143 6.4 0.09] <0.02
=& 18.01 17.7 1.6 7.18] 43.0| 44.0 119 5.9 0.08] <0.02




